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The geology student made a surprising discovery; the volcano believed to be ......... was
about to erupt.

1) dormant 2) temporary 3) affable 4) vulnerable

We waited for the storm to ........... before we left.

1) abase 2) abate 3) abridge 4) abide

The minister desired the position simply for the .......... associated with it.

1) scope 2) status 3) origin 4) feature

The ccouvveeen researcher made sure to check her measurements multiple times.

1} initial 2} apposite 1) diligent 4) vague

Denver’s impractical plan to build a subway system was .......... in 1970s.

1) surmised 2) scrapped 3) strived 4) scattered
............ such as hair color and eye color are inherited genetically from one’s parents.
1) Traits 2) Enigmas 3) Omens 4) Dimensions

The company has ........... $1000 to the team to get the project started.

1) ascribed 2) bestowed 3) depﬂsil‘.ﬂd 4) allocated

After a week the jury had still not reached a .

1) status quo 2) suspect 3} vﬁ:rdmt 4) sequence

Heavy rains had .......... the expedition’s progress through the north-west of the country.
1) abandoned 2) hindered 1) evaded 4) distressed

The rattlesnake is the most ............. snake in the Untied States,

1} venomous 2) ancestral 3) haphazard 4) zealous

11-

12

13-
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The ancient Romans built an extensive and (11) ......... to serve their needs. The Roman road-
building era began in 312 BC. The roads provided economic and military access from Rome to
distant parts of its far-flung empire. The first road (12) .......... the Appian Way, which led,
from Rome to Brundisium (now PBrindisi), a port (13) ......... is now southermn Italy. The
Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road,
from Rome to Naples, provided the first stage of the route (14) .......... by troops headed to
Africa. Roman advances in road-building techniques included preparation of foundation soils
and base courses, brick paving , and, (15) .......... , provision for adequate drainage.

1) roads of durable system 2) system of durable roads

3) durable system of roads 4) durable road of systems

1} was constructed 2} constructed was

3) that was constructed 4) was to construct

1) in which it 2) in what 3) where is 4 which it is

1) used 2) was used 3) be used 4) using

1) the more important 2) most importantly

3) the most important 4) most important
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IPART C: Readingumpreheusinn

Directions: Read the following two passages and choose the best choice (1), (2), (3), |
|or (4). Then mark it on your answer sheet.

PASSAEG 1:

Given two finite sets, we can always decide whether or not they have the same number of
elements, and if not, we can always determine which set has more elements than the other. It is
natural to ask whether the same is true of infinite sets. In other words, does it make sense to
ask, for example, whether there are more circles in the plane than rational points on the line, or
more functions defined in the interval [0 , 1] than lines in space? As will soon be apparent,
questions of this kind can indeed be answered.

To compare two finite sets A and B, we can count the number of elements in each set and
then compare the two numbers, but alternatively, we can try to establish a one-to-one
correspondence between (the elements of) A and B, i.e., a correspondence such that each
element in A corresponds to one and only one element in B and vice verse. It is clear that a
one-to-one correspondence between two finite sets can be set up if and only if the two sets
have the same number of elements. For example, to ascertain whether or not the number of
students in an assembly is the same as the number of seats in the auditorium, there is no need
to count the number of students and the number of seats. We need merely observe whether or
not there are empty seats or students with no place to sit down. If the students can all be seated
with no empty seats left, i.e., if there is a one-to-one correspondence between the set of
students and the set of seats, then two sets obviously have the same number of elements. The
important point here is that the first method (counting elements) works only for finite sets,
while the second method (setting up a one-to-one correspondence) works for infinite sets as
well as for finite sets.

A one-to-one correspondence can --
1) not be established for infinite sets
2) only be established for discrete functions

3) only be established for continuous functions

4) be used as an alternative to counting elements of sets for comparison

Concerning two infinite sets, it is ---------- .

1) impossible to establish whether one has more elements than the other

2) possible to establish whether one has more elements than the other

3) irrational to ask about their comparative size

4) always appropriate to assume the existence of a one-to-one correspondence between them
Consider the following two questions:

(1) Are there more circles in the plane than rational points in space?

(2) Are there more functions defined in the interval [0,1] than lines in space?

Choose the correct sentence.

1) Both questions are meaningful. 2) Both questions are senseless,

3) (1) makes sense but (2) does not. 4) (2) makes sense but (1) does not.

A one-to-one correspondence between two sets A and B is established ---——--- - each
element in A corresponds to an element in B.

1) when 2) only if 3) if 4) if and only if
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Counting —-----—-—- as a means for establishing whether a set A has more elements than a
set B.

1) always works 2) never works 3)1s inappropriate 4) may not always work
PASSAGE 2:

There is one more problem about the determinant. [t is difficult not only to decide on its
importance, and its proper place in the theory of linear algebra, but also to decide on its
definition. Obviously, det A will not be some extremely simple function of n® variables,
otherwise A~ would be much easier to find than it actually is.

The simple things about the determinant are not the explicit formulas by which it can be
expressed, but the properties it possesses. This suggests the natural place to begin. The
determinant can be (and will be) defined by its three most basic properties. The problem is then
to show how, by systematically using these properties to simplify the formulas, the value of the
determinant can be computed. This will bring us back to Gaussian elimination, and to the
product of the pivots. And the more difficult theoretical problem is to show that whatever the
order in which the properties are used, the result is always the same-the defining properties are
self-consistent.

The next section lists the defining properties of the determinant, and their most important
consequences. Then Section 4.3 gives several possible formulas for the determinant—one 1s an
explicit formula with n! terms, another is a formula “by induction,” and the third is the one
involving pivots from which the determinant of a large matrix is actually computed. In Section

4.4 the determinant is applied to find A~ and then 10 solve for x=A"" b; the latter is Cramer’s
rule. And finally, in an optional remark on permutations, we prove that the properties are self-
consistent, so that there is no ambiguity in the definition.

The computation of e
1) results in explicit formulas for the determinant

2} is difficult because Gaussian elimination cannot be used

3) is possible by means of the determinant

4) is only possible by means of Cramer’s rule

The determinant ------------- 3

1) has a simple definition expressed by explicit formulas

2) can be computed by means of the pivots in Gaussian elimination

3) is useless in the theory of linear algebra

4) is complicated to compute because Gaussian elimination is a complicated process
It is -==-———-- --- the properties of the determinant are self-consistent.

1) difficult to establish whether 2) easily established that

3) impossible to establish whether 4) inappropriate to ask whether

The determinant of a matrix A is not easily at hand because ------- —emms

13 A is hard to compute

2) it does not have simple properties

3) simple functions for its definition do not exist

4) the defining properties are not self-consistent

]
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Choose the correct sentence.

1) The determinant is not useful for solving linear equations.

2) The determinant is extremely useful in mathematics.

3) The determinant does not have a proper place in the theory of linear algebra.

4) Basic properties of the determinant can be used to simplify the explicit formulas for its
computation.

Mathematies is -------- by its so many applications.

1) adversely effected 2) enriched 3) degraded 4) merely identified
Mathematics shares much in common with many areas in physical sciences, namely, the
exploration of the logical --------- of ————-- ‘

1) proof / axioms 2) axioms / choice

3) consequences/ assumptions 4) theorem / alternatives

This is a difficult way to solve the problem. You should think of -- solution to the
problem.

1) a proper 2) an alternative 3) an alarming 4) a convoluted

You need to give a reason. There is no -------- hehind your argument.

1) quantity 2) logic 3) quality 4) optimism

Students are not attracted to mathematics. We need to make --------- changes to our
approach in teaching mathematics.

1) affordable 2) fundamental 3) astonishing 4) cosmetic
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